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Cremniub
l.a)=3; 6)12; B) =, 2.2)32;  6)25; B) 5.

3.a)5; 0) 11; B) 5% =15625. 4.a)1; 6)0,3; B)1; 1)2-10%6,
5.a) 9%° > 803°%; 6)45* < 417, B) 1252 < 263, r1)17%-2%< 2%-17%;

n) 35° > 40%*  6.a) —165; 0) 2371 B)—47. 7.a)0; 0) 0.

8. Brasziexa. 3HaiimiTh MUGPY OAWHHUITH KOXKHOTO CTETICHS. 9. Braszigxa. Y uncnax
2%, (2M™ B pospsani oquaMI cToiTh nudpa 6. 10. 3*"+3, 11.(3x*z%)%(—y32)3.
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12. —.
Kyt
1.54°; 126°. 2. 80°; 100°. 3. 50°; 30°. 4.30°; 50° 90° 5.90°.
6. 70° 160°. 7.— 8.6cMm. 9.135°. 10. 45°; 135°. 11.90° — %.
12.67,5° 112,5°. 13. 40°; 80°. 14. 90°. 15. 60°; 90°; 30°1 30°; 90°; 60°.
16. 15° 165°; 15° 165°. 17.36°  18.90°—>90°+=.  19.160"
20. 127°.
Po3kiaanHs Ha MHOXXHHKH MHOTOYJICHIB
1.a) (8x + 5y)(8x — 5y — 6); 0) 2(3a+2—10b)(3a + 2 + 5b);
B) (x> +5)(x*+3); 1) (a+3b)(a+Db); 1) 11b(2a — 7b)(2a + 7b);
n) (x —3y)(2 —x + 3y); e)(1l—-x+a)(1+x—a); € (n—2m)(n+4m),
x) (4a—c—3b)(4a—c+3b); 33 (Mm+n+2)(6—m—n);
n) (a + 3)?(a? + 6a — 9); i) (a + 2b)(a — b)(a — 4b).
2. Braziexa. Tlonaiite y surnsani: a) 511-120; 6)3%4-45; B)10°-2-555;
r) 315-.267. 3.a) (252 + 48)? = 3002 = 90000; 6)300- (247 —97) = 45000;
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B) 78 + 22 = 100; 1) 111’ n) —7000 - == = —1520 - 103 = —1520000.
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4. a)x = 2 0)x = —1; B)x=2a6ox=—2; r)x = —0,5.

[{is11 Ta parioHaqbHI BUpa3H
1.2) 9x® — 30x° + 25x%; 6) 4x° — x*; B) a’ — 4a + 4 — b*;
r)27m3 —n®  1)a?—x*+2x%y3 —y% 2.2)0; 6)2(y—4)(4y + 3x — 1);
B) (x? — 2x + 5)(x? + 2x + 5); ) (x—y)a—-y)(a—x)(a+x+7y).
3.a) (x32 +y32); 6)x16 —x8y® + 916 =34 —-32.22 4+ 2% = 61; B)24a> = 81;

r)a = 2b, Tom 5a?-3ab _ 5-2°b%-3-2b%> _ 14, Na= b ToM atb 7,
N Y Sbztzab _ 5bZtz2b? | 9 N Yo~ 7%

2_.2
ny = z Y — %; e) 13. Brasiexa. x* + % = (x — %) + 4;

4 2
€) 19. Brasiska. R (x — g) +12.  4.a) 4. Bxasiexa. 9x* + 6x + 5 =

2
=@Bx+1)2+4>4; 06)1.Bkaszieka. x> —2x+y*—4y+6=(x—1)%+
+(y—-2)2%+1=>1. 5. 5. Brasiéxka. 5 — a? — 2ab — b* =5 — (a + b)? = 5;
6. a) Braziska. 5x* + 4x + 1= (2x + 1)?> + x2 > 0; 0) Brasiska.
x2=2xy+y: —4y+4x+4=(x—y+2)2 T7.a)Brasieka. —x* + 2x — 2 =
=—(x—-1)?-1<0; 0) Brasiexa. 2xy — x*> — 2y? + 2y — 3 =
=—(x—-y)i-@w-1%*-2<0.



